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F) MR- A 3T 39 | 92 2[rwa Teea fFa fw e @3
AT IANWA (@ F@ies $vmre 03 | [Describe the Michelson-
Morely experiment. What was the result of the experiment? To
what conclusion does it lead?]

<) e Sfrs ©og ToshmaetE 36 39 | Mele @, FTREF TR
X @3 ct @3 Wexy AfeaTw | [State the postulates of special theory of
relativity. Show that Lorentz equations are symmetric in x and ct .]

F) ACAMHES G FART TRIclete W 9 | pfeRin et
wdits gad & w@w? [Derive the relativistic acceleration

transformation equation. Is the acceleration invariant under
Galilean transformation?]
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<) oS MCGA Tl Wi | oA ALIOA 9@, L = L, 1—\;—2 faefa 2 |

[Define Probper length. Derive length contraction formula
VZ
L=L, 1_c_2']
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) SAFS ©F THF, m =

. . . m
q9 3@ ? [Establish the relation for relativistic mass m = 2

How will you can calulate the mass m for photon?]
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%) oFs TE e & W2 (Ule @, &FS AW dT:dt\/l—Z—z Gs]

FAGR WA =@ | [What do you mean by Probper time? Show that

2
the Probper time dr:dn/l—v—2 is invariant under Lorenntz
c

transformations.]
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) TEAG -7 A WS | APfes oFa E @3 FAEd AT w9
[Define Lorentz force. Obtain the transformation of the Electric
field E .]

) MIFCEER FANFANTEACE G AT 2F™ F9 | [Express the
Maxwell’s equations in tensor form.]

F) IMOAIe @R @SR Afe IfqPR WG F9 | [State and

explain the principle of equivalence and the principle of covariance]
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q) WRPOREE TT AN, RW—EgWR:C—ATW fadfa w9
. L . 1 87G
[Derive the Einstein’s field equations R, —ngR :c_“T‘” ]

HEABIRER TR T THwwel feid | @3 7 @@ e M @3
(@ 93 TAIAET CTRAEHIRT AL ey 9 1 M @3 CIRIEnIES
eTE T2 [Write the Einstein’s field equations for vacum. Obtain

the Schwarzsch solution of this equation for a static central mass
M . What is the Schwarzchild radius of M ?]

F) AR ARFE Srga @6 e A TLpIFEe - ST
39 | [Discuss the gravitational red shift as a test of the general
relativity theory]

q) @3 ©iff &8 M @3 <& =6 e vea el s I Rpfs
@ fada 7 | [Determine the angle of deflection of a light ray
passing very close to heavy mass M .]

3) G- 9T MG H, [Derive the Robertson-Walker metric]

dr?
1—kr?

ds? = dt? —Rz(t){ +r2(do? +sin29d¢2} ffa =4 |

<) AR | 71 79 1 [Describe the Cosmological principle.]

() RO +k="ZCpR%, (i) p+2(p+a)T =0

w9 126 &fedt 39 | [Derive the equations.]
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